, B(=1, =3)°l thst] 1

@ P(-1, 1)
® P(-1, -1)

2 2 WEst= A P 9

® P(1, -1)



2x+1  a bx +c¢
B-1 x-1 x2+4+x+1

7 x# 12 RE

AR SteZ a, b, c5 7L W, a+b+c2 32?

@D 2 @ -2 3 1 @ -1



3. HIdH -3 +ax+55 x+ 2% W UHA7L 30| a9
A7

D 0 ® 2 3 3 @ -2 B -3



4. = B
2= -NTTE @, iz e) ghe

®1 @
-1
® V-1 @ -V
V-1
G = Mol Zre Zrrt



xof gt o ZPFH A 2mx? 4 (5m+2)x+4m+1 = 0°] F

St A4 m o] 327

3 701 7
-2, -2 -, - -2
@® % ) 20 3 ©) 5

2
2 9 =
@ = ® =



1%}

@ k<1 ® k<3

@ k<1

B 1<k<3

@ k<3



T A Aa,4), B(1,b) oA 22 Al = x5 A9 A= P, yF
9le] A& gt ok, A0PQ 9] FAFAH2 G(-1,1) |tk oJwf, a—b
o] k& FohH?

D -1 @ -2 ® -3 @ —4 ® -5



8. 22 4+292+5xy—x+y—-19 A2l AL2?

@ 2x+y+1 @ 2x+y-1 ® 2x-y-1

@ x+2y+1 ® x-2y-1



@ b-c ® c—-a

® a-b

® a-b+c

@ a+b+c



10.

7bxy =6, Xy +x? + x+y =632 WFAZL 0, k2 4?2

o 4B 35 @ 69 ® 81



11.

L9

O& T &2 A2

flo

O 14 V=13 =2i+4
® (-V-3)2=3
® V=3vV=9 = -3/3

@
@

8
\/__2
(V=5

=2i

)3 = 55i



12, dolo] B4 qa, b o Hote] A4t oE aob = (a+b) —ab 2 2T
o, z0i = 3+ 2i & W&oh= B4 7 =7

® -1+2i @ 1+2i ® 3+2i

@ 5+ 2i B 7+



13.

a<0.b<02 T L

@ avVb = Va?b
® Va?b? =ab

® Vab = \Jabi

Vb _ b
a a
—ab = +aVb



112 1
934 x4 5| -8l

—7=09 MNa<x<bEEc<x<d

2 2
St a+b+c+do F2? (T, e x ek 27 &2 2]



15.

OJAPYA Al x2 4+ ax +2b = 09]

a+b_04 %I’\%? (“:__]'a;t())

D -9 ® -5 3 3

=



16. OIZFFAA (V2 + 1)x +x— V2(V2+1) = 09] F 2] F27

D -2 @ -1 3 0 @ 1 G V2



-

o] 4uj2

=2
- -

2o ot

.é_l_

¥ =5x-m=09

up A

0]_]'0

17.

Ot
e



tod a® +b° + ¢ = ab + be + ca

)

ol Hl ¥ie] Zo] a, b, ¢ ol Hh



19.

xoll g THA £(x) 2
2 1 1ei2)7} 2
o

@D 8 @ -8

(x -

a)(x+Db), (x+b)(x

FZhx+2, —x+4, 04 o,

® 12 @ -12

c),

T

2~
m

X

c

,C

)

(x

_g]

® 16

o &



20. oA AA ¥ -2x -4 =09 F = a, BT W, °IAA f(x)
o thated f(a) =3, f(B) =3, f(1) = —25 W}, o] ApLg4]
f(x) = 0% F5FH?

D x*-2x-4=0 @ x®—4x-1=0
@ x2-x-4=0 @ x®’-x+4=0

B 2-2x-1=0



21.

o9 I3 go] =302 whp= 27} Itk wAbHA A=
&0 2 6km, B+ 9&92 4km A Fof ot AF A= A& 4km
O £L 2 AZo7Z BE AL 2kmo £ B&ES gFslo] S A]9

=
S-S ° A, B Afo]o] A7 M ES dle S & 2 AL
T2
B
A oL-6-_ &
A
H
O 1A =E @ 124 % ® 14 At &



22. A P(a,b)7t A y=3x+2(-1<x<2)9S AL o, d Qa+
b,a - b) 7} YEl= 245 9] Aol=?

D 25 @ 35 ® 45 @ 545 ® 65



1 85
23. mb()ﬁ =kx10" (T, 0 <k <10, n2 A5 2 Yepd of, n 2]

gre Fo?

@D 72 @ 71 3 70 @ 69 3B 68



24. TS oA A A

@ 64 - Tab + 2b>
® 484> — 48ab + 12b>

(B 4842 1 4A8ab - 19b2

sol=? T30

‘"‘8(1"

@ 36a% — 42ab + 12b>

@ 12a® — 12ab + 3b?



25.

107} THaHA] P(x) 7} P(K) =

A2 o, p(11) o] 3e?

@ @

=

I



